Year 4 Homework Answer

Module 5: Divided by 2-digit number

39 78
96 94
3 9
10 7
15 43
13R29
9R59

30R2
27R7

832+32 = 26 fans in each section

3 weeks = 15 days to school

135 + 21 = $9 per day

238 + 17 = 14 brown dogs
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2 weeks = 10 working days

860 + 10 = 86 trees per day
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Fortnight = 2 weeks = 14 days
434 -+ 14 = 31 push-ups per day

364 + 52 =7 decks of cards

840 + 24 = 35 songs per artist

(633 - 3) = 15 = 42 bags

238 + 34 =7 games

910 + 26 = 35 rows

672 + 16 = 42 clothes on each rack

(418 + 32) -+ 18 = 25 trains per train line

966 + 23 = 42 bhutterflies on each flower

325 + 11 = 29R6

Therefore, 30 tables will be placed in the party venue.



19.

456 + 23 = 19R19

Therefore, 20 buses are needed.



